
 

FUNCIÓN EXPONENCIAL 

𝒙 𝒇(𝒙) (𝒙, 𝒇(𝒙)) 

   

   

   

   

   

   

   

𝒇(𝒙) = 𝒆𝒙 

ANÁLISIS 



  

𝒇(𝒙) = −𝒆𝒙 

𝒇(𝒙) = 𝒆−𝒙 

ANÁLISIS 

ANÁLISIS 



 

 

  

𝒇(𝒙) = 𝒆𝒙 + 𝟑 

𝒇(𝒙) = 𝒆𝒙 − 𝟑 

ANÁLISIS 

ANÁLISIS 



 

 

  

𝒇(𝒙) = 𝒆𝒙+𝟑 

𝒇(𝒙) = 𝒆𝒙−𝟑 

ANÁLISIS 

ANÁLISIS 



 

FUNCIÓN LOGARÍTMICA  

 

 

  

 

  

𝒙 𝒇(𝒙) (𝒙, 𝒇(𝒙)) 

   

   

   

   

   

   

   

𝒉(𝒙) = 𝒍𝒏(𝒙) 

ANÁLISIS 



𝒉(𝒙) = 𝒍𝒏(𝒙) + 𝟑 

𝒉(𝒙) = 𝒍𝒏(𝒙) − 𝟑 

ANÁLISIS 

ANÁLISIS 



  

𝒉(𝒙) = 𝒍𝒏(𝒙 + 𝟑) 

𝒉(𝒙) = 𝒍𝒏(𝒙 − 𝟑) 

ANÁLISIS 

ANÁLISIS 



 

 

 
𝒉(𝒙) = −𝒍𝒏(𝒙) 

𝒉(𝒙) = 𝒍𝒏(−𝒙) 

ANÁLISIS 

ANÁLISIS 


